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2 RS 208E/d
— 2EIES LNG 2H]5F = 640,000/9,550 % 0,85 &) = 78 8Nm?/ton
— LNG &7 = 208% x 78.8Nm? = 16,399Nm?%d
— A7l = 16,399 x 7439 J/Nm3 =12,2199¢
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18 | 35 AFX2ITANKZE=QI | 10.0 | SSK BPT 0.18022 1 2.70 8640 79,870

19 | 3SERX2ITANKEHEYQI-2 | 10.0 | SSK BPT 0.18022 1 2.70 8640 79,870

36 ASA 20 | SSK BPT 0.610505 1 4.50 960 6,995

37 ASA 2 2.0 ZZ% | FLOAT | 0.18022 1 3.00 960 5,722

39 Al QA 2.0 ZZ | FLOAT | 0.610505 1 2.60 960 2,335

40 L xAl 2.0 ? BPT 0.610505 1 4.50 960 6,995

45 o4 2| 2.0 =2 DISC | 0.610505 1 4.33 2880 19,428

47 224 7|ACH7 | - (218) 2.0 = DISC | 0.610505 1 4.33 960 6,476
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(Steam Heater &% 120,000kcal/h)
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— Al 3240H] 160,000 x 0.6(FF8h x 6(A17h=576,000%365(%)=210,240,000kcal/d
— WG 3244 120,000 x 060543} x 24(A17H=1,728,000 x 52(571=89,856,000kcal/d
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- AZZ|Z 60HP Z7 : 45kW x 5H/Y = 225kW/Y X 365%Y/9 = 82,125kW/H
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- AZ7|Z AOHP A7FeF 1 30kW x 4H/Y = 225kW/Y x 365%/4d = 43,800kW/d
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